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Use the following to review for your test. Work the Practice Problems on a separate sheet of paper.
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You need to Things to
know & be remember Example Problems
able to do
2. 2x2+x é
X‘ b &
| Get in standard form. &){ — 3\}/ X’ +2
Solve a
Quadratic by el " 5x /% J
Factoring Set each factore 1Y =
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70 EANCED
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f%[i:;r* ; - e | \ \
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Isolate the square. E .
) f’ TG
Solve a | Take the square root of - =N
Quadratic by | both sides. A J e
Taking Square 7. 2Ax -1 +4=16 =
Roots Don’t forget the +. 3 ( ) N f . 8. (X +4) ]‘? f
x=1)" = [+ +4) =
Get the variable by itself. N é, QX Al
k-0* =6 | ¢!
(x-1y =Ve =15 7
|26 =145 3%
9. x2?+2x—4=0 10 X7 +8x+4= 0
Put terms with an x on X~ -f;}\x = ¢ = X *“. ‘ f
the ‘Eﬁ, X ‘;‘Aﬂ% @;,jx ?i ; i’: 5 XW? »zl v ’; /g
Find the number that . “k?\“ 2 — £ ’ X + §w - / di
completes the square. -y mé;; g {l Jr- '
Solve a : . \ Xt - A3 B el i
Quadratic by Agd it t\f both sides. . !/(‘ - g“gé - 1%
Completing the | octor the left. Simplify | 11- X* =8%+36=0 12. 3¢ +12x-6=0
Square the right. Xﬂiv v = C 4 ;
Take the square root of “’:3“;- %;’}’ +/ %1 ==+
each side. -
x =)= =20
Solve for x. m 2 i
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Unit 3 — Solving Quadratics

Review

Put it in standard form.

ldentify a, b, and c.

13. X*+4x-2=0
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14x+4x10

.,;9{ ”&(}%3‘ -ﬁﬁt’; ,

e —

Solve a
Quadratic by
Quadratic Use the formula. 15. 6x* -3x=-2 - z =4X =
R bl | G lei2o0 | LT e2x 4]0
2 ‘* ,,
117. x*+8x+16=0 18. 2x? +5x -3 = f’
Put in standard form. 27 - %(!’} ijiﬁb {;2 {;,(
Identify a, b, and c. . s o -~
entify a, b, and ¢ é?’ ——é: :0 CQé ﬁ £
Use b*-4ac. . A f,
Find the / /i ﬁgﬁlﬂ?’

Discriminant and

Determine the

Type of Roots

= Positive answer, 2
real roots.

e Zero, one real root.

« Negative answer, 2
imaginary roots.

2 fo.! /@Jg

19. X2 +5x+9=

5’5240}(’%
92\3 "“3( f;"’//
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20. 2x*+5x+7 =0

5‘;:2«4(,2)(’J
SIGEYA
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Solve Quadratic
Inequalities
Algebraically

Get in standard form.

Change the sign to =.

| Factor.

Solve.
Test points.

Answer.

21. 3x2+10x > 8

22. 4x*-15x+9<0
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Factor each completely sf’mi gt

g’%@wyw ﬁeff paé”fff‘?é"’

s (x=[)  wews O g ( h—5)

3) aX+6a 40 é?}&‘/0> (ﬁz ;{} 4) n* —12n+27 (h . j) ‘\Vﬁ ? >

EAEER G- )+ ) 957 (30~ 2D (2 +3)

§£ , .LQ e L;ig,, 7T ’gzw/
‘Solve each equation by factoring. L] |
21 xL I CE |
+ 6v +5=0 ) P +n—12=0 (’/ 3
DY \ ) h — 3 > n + ? y,

X~ _fj(v —5*
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Solve each equation by completing tne square.

x
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T O t100 = =76 +L
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olve eac eqﬁatlon y ta gsquare roots. | ( % “f‘zﬁf) jﬁ | -
15) 64n* +2 =66 é% é‘f% O 16) 64n2—9=91 [Up T =00 = =
w00 oL
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17) 25v> + 10 =74 = ==} e 18) 6m”+2=-39 é Mo - ?‘f /:‘ /
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Find the dlscrxmmant of each qpa ratlc equatémgthen state the number and tvpe of soluti

4 ‘/f ?%L?B 0
19) ~10x* —=9x-2=0 \m 20) K 46k-9=0 .
Qggv o é}’“‘ (ﬂf ;(93 / /2)&!

21) 102 —|-10x+4 0, 2 Sefuledes ) 2k1+7k_9=0 7230 0
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Axis of symmetry:_X = C Axis of symmetry: _u Axis of symmetry:  X=/

vertex: ‘L‘—f’fi Vertex: ;@_é;z
5.3 A ¥ 3 gt 48

h= 20 f%%/gx
Y" Z(‘Qz*iig ? )€ ’f V:‘;@xw 1 = Z

3y - SH+% =~/% "'?@\)j-f—/é (2)te
Axis of symmetry:_X = =4 ' Axis of symmetry: X = 0 Ax:s of symmetry:_X = 7

Y

Vertex: {"’ 4 ,-‘gg’j ) , Vertex: | 22; £ 5 _ VerTex‘;(’L; !/ ;éx

Graph each quadratic equation. I%Aaél:e sure you find the vertex and axis of s;’mmefry first.
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7. y=x*-6x+4 = 3-2&@553(;% 8. y= X%+ 4x -1

7 =)
- —

Axis of symmetry:_¥ = 2 Axns of symmetry: Xe =2 f 5= {

%
N -/hf = 5/ | -
Vertex: { ; ““’i ) b4 | Vertex: [~ gz , Ff} y"‘ ) “ f
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How do you raph a quadratic
“g ;/,5;; ';f? Ll (5}
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1. y=2x>—8x+6

: - G ox - ich& “a) Axis ofsy;;me’czy )( “ a/_zi

w 5 A ; _ b} Vertex: 53\/"}‘}
SR c) y-intercept: ¢ 6 P /
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-« *; o e s i - Y
¢) y-intercept: 5’3 o/ T TNT )

i) ‘Lg;,

Y f[)‘w L

d] Sketch the graph. (/¢ ¢
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Equations of Circles %, K T4y =)= T

Write the equation of each circle.

1. center at ongm radius 6 2. center at (0, 0) radius 2
. 7 V ya

- @*"’" 3:‘: - 7 —
ng & = {i”‘}/ X»{«f = g{},

f

3. center at (4 3), radlus 9 4. center at (7 1) dlameter 24
f -4 !» 3[(] /;’ ? }‘/ )7 =

if : Be 5. center at (—4, —1), passes through( —2, 3) 6. center at (5 2) passes through 4, 0)
1 o~ ’j iy - ""”f“‘i",«’: )T =

e | X
.

\‘f“ v

1A TN
NV

rd o 5 /j’ . el y & 7 «:w\‘ 52 {’);
=T % +( =Ly =Y /‘f - y +47 =/
Y S { 5 ¢ i\ L "y

For each circle with the given equation, state the coordinates of the center and
the measure of the radius. Then graph the equation.

4 =

R

' L

j g My i 7 [/ ; r/
9.2 +y*=16 f?;j F\fzéﬁ 10.(x — 124+ (y — 42 = 9 (\ r

NAEESUNEN r= T

™

A
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Write an equatlon of a circle that contains each set of points. Then graph the
circle.

11. A(—2, 3), B(1, 0), C(4, 3) R 12. F(3, 0), G(5, —2), H(1, —2)
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g1 % ¢ D i Lot 3 (}f | P
‘}f ia f A P /; T :‘ § J ]

2 Glenoaz/Metiraw-Hill, a divisivo of The McGraw-~Hiii 07,

.5

ih
SR
~)

Cth ar 10

=008 G um—uyz Q




ont © Girncoe/MeGraw-4ill, a divislon ol 7 .

LRpYTig

(%

DATE ___ PERIOD

Special Segments in a Circle

Find x to the nearest tenth if necessary. Assume that segments that appear to be
tangent are tangent.

1. . 3.
2 Q

(- T+7 [Ex=/2"15
= T e (%0
r N
f/) W T \Ai { 7 e Lj
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60 36 = KF+X (2,990 0
Y »Zé 3 >( # 1 X

fﬁif(w (s 16X i *
%‘—-&L.. X=5 — 1
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@% Vaa #’g f@ A groms

% ABCD is a square ‘ 5’ D c

a) ms3= i ¢ d) if AC=10, DE- N 5

b) m«1= géé ‘ e) mZABC:= z £

—_— ‘ .

c) ifAB=6,AD= 6 f) ifAC=8,BD=__ 4 A B
@) ABCD is a parallelogram

a) ifmslz60°,mea= G0 °

' b) if msDAB=120°, mzABC=_(n 0 ° D . C

¢) if AC=20,EC= f‘ 0 Uy = ? £

d) if AD=4x-5and BC= 3x+2, thenx=__' / y 4 B

e) if m/1=40°and m/2 = 35°, thenmsDAB = _/ [/ §
48) ABCD is a recTangIe D : = C

> ' /pn © 2
a) mZABC=_/ H° b) if ms1=40°, m/3 = %0 > 4
¢) ifmsl=35ms2=_5 L " dy if AC=12,DE = é E
)

e) if msl=36°mB=_ [ A B
4. ABCD is a r'hombus

a) ms5= f .} by if msd=430,me2= 11" D c

5
o ifmaaz40e,me3= L 00 g

@ ABCD is an isosceles trapezoid
@) if met =607, meAz_(p0° Uy L ¢
b) if AD=4x-6and CB=2x+8, thenx=_ X=

c) if AD= 3x+4andBC 4x - 6, then x = wa Lfﬁ{ §f0 E

=l

/() + ’lsi
d) if CD = 10.and AB = 16, then EF = wﬁﬁw

e) if EF = 15,and DC = 8, then AB = J/— 5:‘“

/3

Given AABC with midpoints D and E

a) if AB=20,DE= ] 0

b) if DE=18,AB=_ L0

c) if ms1=81°, mzA = _ zz ig ’

if Ac=20, aE=_ [0

:2?*@”

A B




@.Find the missing values.
@ parallelogram % parallelogram Z y I

4x - 6 c X o ; g

D :
Y/ /\”402;:/{?‘ v Xm \ fyﬁ;?

8?) square f X—oll = 7y 8 rhombus 2 et €= Vet
P § ri}sif“’f’y”'_‘:a 1
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